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P3 - ,
( Section - A (Physics)

1. A body is executing simple Tgrmonic motion with
f'n*qml'-t‘s-.'}' a the fregueney of is potentinl energy

18 B

m
s (1) In " - L

AR | ‘

(31 In o . 4

|y dn Pl -l

2 Polar molecules are the molecules
all} having a permanent electee dipole moment.

2 having sere dipole momaent,

W acguare a dipole moment only in the presence
of electrie field due to displacement of
charges,

4 acquire a dipole moment only when mognetic
field 1= absent,

3. Column -1 gives certain physical lerms associated

with flow of current through a metallic conductar,
Column - IT gives some mathematical relations
invalving electrical quantities., Match
Column - I and Colummn - Il with appropriate

relations.
Column -1 Column -1
m
31 ]J I 1-’ 1ty
(A rift Velocity (F} G
(B)  Electrical Resistivi . L Q) meyy
5 ) Y. eR
{C)  Relaxation Period .\ / “(H T
~ m
(D) Current Denaity - Eé‘) %
(1) (AR B-E). (C)-(S), (D-(P)
@) (ARR), BRSO, D T e
(3 (AR (B8, (Cr-(Q), (Dy-(P)
4y (AR, BRE), (O-8), (-6

=
@,ﬁ Twocharged spherical conductors of vadius R, and
R, are connected by a wire, Then the ratio of
rurface charge dengitiee of the spheres (o fir,) 8 :

R :
1 3 s
(1) R (anf) Lan, ﬂ
g Tl

@ g 5 Sy

g
() ﬁ

ﬁ{?}

W y(Re,

A purallel plate capacitor has a uniform electric

Field 1 i1 the space hetween the plates. If the
distanee hitween the plates is'd and the area of
thek plite 16 A the energy stored in the eapacite?
WAL, = permittivity of free space)

1 Al

() : 5
:“ ; L
@ g 2 ot
) :J'.'I ok \ g
7

'I'-'I]I i'lll‘.'.'",-rl
) Lyt
" J EFHFJ lIlIII.I'I

An anfinitely long straight eonductor carnes 2
current of 5 A aa ahown, An electron 18 moving
with a speed of 107 m/fa paralle] to the conductor.
The perpendicular diztanee hetween the electron
and the conductor is 20 em at an instant.
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron p=10°m/s 7
‘ | \
20 cm o ped
| l ¢ = O
l v
P 5A Q@ %,
m sx10-®N 7
2}  4x107%N
@ 8wx107¥N
{4 4mx107¥N
PRYTE & = miie?
7. U E and G respectively denote energy and

gravilutional consrant, then £ has the dimensions

of ; M7 e
) ML (T e
(& (ML [m2]x U
3 [M]LL YT T
@ [M][LY [TO] M 3Ts

8. Alensoflarge foeal length and large aperture ig

bst smtuEi as an objective of an astronomica]
telescope sinee -

(1} = larg.u aperture eontributes to the quality
and visibility of the Images. )
() :,'I:l-‘:ll'gﬂ area of the objective ensures bettey
light gathering power, |
(3)  alarge aperture provides a bettar resnlution
» (1) allofthe above, |



11.

Match Column - T and Column - 11

and choogs

the eorrect match from the given choices,

(A

(B}

1

()

(11
(Z)
(3)
S8

Column -] Column - 1
R i
00t menn square (" g m
gpecd of gas molecules I
Y
1 7
Pressure cxprted : LA JE%T
by ideal gas
Average kinetic energy ﬂ‘q “E RT
of a moleeyle 3 ;
_ 5 By i
Total interpal :-:nn:rg:-f‘ (8} P kp'

of 1 mole of 5
diatomic pas -
(A) - (R (B)- (@), (C)y-(P), (Y- (5) 2
(A - (R), (B) - (P (C) - (8), (D) - (Q)
(A)- (@), (B)- (R), (C)-(5), (D3 - ()
(A) - (Q), (B)- (I, (C) - (8). (D) - (R)

Consider the following statements {A) and (B)
and identify the eorrect answer,

(A)
(B)

(1)
(2)
(3)
{4

A zener diode 1s connectad in reverse biae,
when used as a voltage regularar.

The potential barrier of p-n junction lies
between 0.1 Voo 0.3 V.

() is ineorrect but (B) 1= correct.
{A) and (B) hoth are correct.
{A) and {B) both are incorrect.

(A) 15 correct and (B) is incorrect.

A dipole is placed in an electric field as shown. In
which direction will it move ?

a (d)

L)

e

T F
toweards the right ag its polential energy will
Increasc.
towards the left as its potential energy will
INCYCHBE.
towards the right as it potential encrgy will

derregse.

towards the left as ita potential energy will
decrease.

P3

12.  Aconvex lens'A’of focal length 20 cm and a concave
leng ‘B of Tocal length 5 cm are kept along the
qpme nxia with a distance ‘d’ between them. Ifa
parallel beam of light falling on A’ leaves II.T asd
parallel beam, then the distanee ‘d" in cm will be

@ 0 — e

| 5 Ii':}r .
P -1 (=20 % <crm
(3 15

(1) 50

13. Thu eacape velocity from the Barth's aurface 1s ¢
' The escape velocity from the surface of another
planet having a radius, four times that of Earth

and game masg density 1a

I v F"Eﬁj
1 4u 3
| T
{2.' i % = ™ Vs Ul_.l?éh
n2 e
o 13) 2u = T
(4 du ﬁm;?ﬁ"z Tk o

14, A radioactive nucleus '%}{ unidergoes spontanesus
decay in the sequence
;K -—}E_J_B -3 E_Eﬂ —}E__ED' . where 4 15 theo

atomic number of element X, The possible decay
particlesin the sequence arc

N I N
2 o BT BT
(3 @pp

/;14} B, 0 B

16. A serew gauge gives the following readings when
used to measure the diameter of a wire

Main scale reading : 0 mm
Circular seale reading : 52 divisions

i}iven_ that 1 mm on main scale corresponds to
100 divizions on the circular scale. The diameter
of the wirc from the above data is -

* (1) 0052cm 8 S 2
() 052¢cm i
3 0.026cm

(4 0.26 cm
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S 1
t=n—1tot=mn Then, thEI'EltlDS i 18 : he_":f’
B w{“
(1) Z2n—1 f‘.’.g
‘»l:};“ >
2n—1 ,Ti"'
(2) _En_ m“%
2n—1 #ﬁ_
e (3) an+1 f{bqﬂ”
" W ¥
2n+1 o,
@) opn-1 y ‘«"‘%’ 595—
‘r‘*{%“ ,,f.- 'L "
W e

An inductor of inductanee L. a capneitor of
Hapacitance C and g veristor of resiatanee ‘I are
connected i seriea to an ae aotree of potentinl
difference V' voits aa shown in figure.

Potential difference across L. C and R s 40V,
10V and 40 v, reapoctively. The amplitude of
Current ﬂ““'l'ﬂl_-: through LORK serea cireutl 1M

l[l\'.: A The I'r'l‘qu.*'dnn:'-:- ol the cireuit 1188
10 o 40
BTV |——AAN—
iy §n
[ 40V se— 10 V—ra— 40 V—
| ;
b {::":.. ]
v
(1 64
@ 420
{3 E..I.-"'x.l'E (-
() 4 1)

A particle iz released from height S from the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earth and the apeed of
the particle at that instant are respectively:

368 ¥
3gS ve
2
J3es
2
J3e8
T

(2)

(3

5
4
5
4 2
5
(4) 5
A small block slides down an a emooth inelined
plane, starting from rest at time t=0. Let 5 be
the distance travelled by the block in the mtranra]

-\_-'_

113,
'i"hi ﬂ-'nr i ”f rlr‘IHJ”rfl [ELM “‘-"It}" thEI.t- W'l,]_] rEmH-l]]
nfter 160 hours waould be :
"0/
{1 - il “
S I I
.l\,l'll.-! 2uf - B 7
[2) 112
.llr...ll-l
I 5
() EJH_ oy =g T,
R |
5 5] 0+ '
“ R
(1) 3
20. The eqmvulunt capacitance of the ecombinatioy
shown in the figure is .
4L C 8
e -
| i
= Cl G
(L 3c2
@ 9C
« (3 20
4y O
21.  The effcctive registance of a parallel connection that
consists of four wires of equal length, equal area of
crosa-section and same material 15 0.25 ). What
will be the effective resistance if they are connected
in scries 7 A
. () 40 @—1‘
< B _.:.‘h'.lln"l— _}
{2) 0.25 (1 ] AAAN- ||
\
B 054 b A
@ 10 Tl e
22. A nucleus with mass number 240 breaks into twi
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclei 13
7.6 MeV while that of fragments is 8.5 MeV. The
total gain in the Binding Energy in the processis:
¢ (1} 216 MeV s 5 HED
2)  0.8MeV .
@  9.4MeV 240 (8§ ~ #6)
(4)  BO4MeV 2y o %9
A\ po

A

The half-life of n rodioactive nuce lide is 100 hourg,

.-"- 1_1 M 1
2*

WO
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The electron concentratign

Isemmnductm‘mlthe same as hole congeitypgt:

in a p-type semiconductar, An extel ; fﬂft]?n
xternal field

(electric) 18 applied across eacl
the currents in them, 0f them, Compare

M A n-type:

1) No current will flow in p.
only flow in n-type, i
() cwrrentinn-type =currentin p-type
3) current Z!.[l P-type > current in n-t:}'pel.
i) current in n-type > current in p-type

The number of photons per second vn an aver
emitted by the source of monochromatic lighaulgt;i‘
wavelength 600 nm, when it delivers the power of
3.3x 10 watt willbe : (h=6.6x 10~H Jg) ;

n 109 s X ey
(2) 1‘31‘3 35T T Eiog w8,
@ 100 x0T

@) 10 %

A thick current carrving cable of radius ‘R’ carries
current 17 uniformly distributed across its
croag-gection. The variation of magnetic field Bir)
due to the cable with the distance Y’ from the axis

of the cable is represented by :
: |

——

r
rd

(1) B /

2y B
i
T —_—
|
!
3 B
ey
1
i4) B //‘E\ \

i

26,

27,

Z8.

29.

|]'-_“':1_" A

F P3
mags M and dens_ity
filled with glycerine
time, If the density

The velocily of a amall ball of
d, when draopped 1n & con tainer
hecomes constant after some

of glycerine 18 El_ , then the viscoue force acting oIl

the ball will be :
‘d
1 2Mg '
Mg
(2) 3
” (% Mg
5
—M
4 3 8

Find the value of the angle of emergence from the
m. Refractive index of the glass ia V3.

pris
£ L= A
-!’. .'.‘ "ﬂ' 5 ._ 1
- Uyaw i - mixaAmB
2
_ i
et T
4}"_.&%']‘:1@& :\:l—.'t‘ ':.!'.."-Jh'l.xﬂg
|
A be® '—I"ll_._:
() ar . (NE |
(4) 45 ﬁd&g b= AOD 7
A capacitor of capacitance ‘iz comnected ACrogs

an ue souree of voltage V, given by

V=V, situwt

The displacement current between the plates of
the capaitor, would then he given by !

(1} [j=VywCsnot ;
s Ve Jﬁ.tﬂ{ﬂ"
@ 14=Vjwleoswt -, ;
g = Iiﬁ.: Vo, dw ¥
{3 IdFEﬂ'UG 2wt B
v,
(4 Ig= 0 it
wC

Tf force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities,

Find the dimensiona of cnergy.
1

fgl; [Fl[A-1][T] s d = Ry
@  [FI[AI(T] Con e i
A3 [F][A][T?] L o [AN =
@ [F][A][T] L1



P3
30.

32,

33.

(2]

In a1 potentiometer eiveuit o cell of BMEF 1.6V gives
balance point at 36 em length of wire, If another
cell of EMF 2.5 ¥ replaces the firat cell, then at
what length of the wire, the balance point oceurs ¥

(1 62em i

| 5 17,
60 em I - - }_@
(3

(4)

21.6 om

G4 em

“'i Epl‘jﬂgiﬁ stretched by 5 em by a force 10N, The
’_cu:uE- period of the oscillations when a mass of ¥ kg
18 suspended by it is -

§ =
() 0.628s Frgex .
My = JuKn Twb
(2] 0.0628s , ' 1-?:
: 4
(3) 6.28s SEl U
@ 3.14s f“‘“‘*”i%"
S dr J
' rﬂrﬁﬁ”.
For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible divections for electric
fizld (E) and magnetic field (B) respectively ?
i)
i e
A Fa M o 'l.':-"
) R S ey aa’*ﬂ'iqu
/’,::\1 :
2) }‘+L Tk Y #35"
jh o3
. AA A A ' .
Wk, -k i
M Lt
i{’i_] itk —j—tk
A cup of coffes cools from 80°C to B0PCin t minutes,
when the room temperature 1z 20°C, The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°00 i5 .
h
—t
RIRE @
13 © e guﬂ"”
5 sk B 2077
T -1
£
13 Gt <o
@ gt <A
2 - b
4%
10 A4t
—t
@ 13 2
J
(€97
g

3

b

34,

3.

36,

37,

An electromagnetic wave of wavelength ‘3 j,
incident on a phut[]sunﬂitjve surface of negligih],.
wark function, 1f ‘m’ mass is of photoelectrgy,
emitted from the surface has de-Broglie wavelength

A then | x o B
(1) hJﬂP_f g™ R
Lme L
L o -‘l
I'-.Emﬁ' i -'} f{\.."'-;
N S .
@ A= g B
“Ime 2 v
= < T -
P et = i
@) y [ h | > ol
; -
9me | 2 - j,"'..- 2
bod SE9 T S

Water falle from a height of 60 m at the rate of
15 kgfs to operate a turbine, The losses due to
frictional force are 10% of the input energy. How
much power is generated by the turbune ¥

{g =10 m/s2) .

I TOLW '
EE; 10.2 kW A, ‘—'j__gmﬁ?a
L3 8 1kW sl
4 12.3kW S ?{E&i "
g gm )
Section - B (Physics) **k_h

Twenty seven drops of zame aize are charged at
220V each. They combine to form a bigger drop,
Calculate the potential of the bigger drop.

(1) 1980V W
4 Dt
() eeov L ~+O b e c%.s'[] [}
(3 1320V T
(4)  1520¥ Parte

A point object i3 placed at a distance of 60 cm from
a convex lens of focal length 30 em. If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 em from it, the
final image would he formed at a distance of |

¢
'

+— 80 ern—>—40 em

o I 20em from the plane mirror, it would be &
virtual image.
(2) 20 cm from the lens, it would be a real
image,
(3) M em from the lens, it would be a real
Image,
(4} 30 cm from the plane mirror, it would bea |
virtual image,
Il - 1 } W
0 L | ki §
W oy g 4= o 6°
j:-!—"..", _5:“'11.1-5 o B
& N HD Vv 7m B T &
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ek Cg{' ey S N P3
L AT 3
][j‘.h'.-. " H - LY ™ ey e N.rm ,? " - : l o
'_.ﬁf i " ) iven circull theiﬂnﬂtdiﬁitﬂ] signalé
48 A particle of mass ‘m' is projected with a velocity | 41. fFor tlhﬁ By als A, B and C. What would
p=kV {k <1} from the surface of the earth. applied at the terminai = 147
he the putput at the terminalX :
(V= escape velocity) ¢
The maximum height ahove the surface reached i t:E tg ty b _15
by the particle is : 5 —— Fll’ L
i 1 ‘;‘ - m »?1 "-Gi' 0 — ’ | ; =
Rk owves M O
M 2 9 -3 T I B
,= ¥k v 5 GO I il
E = H ! ! S
k P 4T & o—— .
R o3 pYF o &4 3
_.-'rll h LEJ .‘[’.1,_ ],; F'- M 0
Tgl'l..- ~ £ Eﬁl .E,.\" -!"-'E"':_Fr
¢ R’k L L, A e
W 13k s P ﬁ“ == s
L f"r_ ;;.
g, Intheproduct X, g Lz 4 o \
O ) o B
- [ 3 a] o—T y
]:I :I:_l_ [ x H L : X P . :
=g U~ EL+HJ+EDE - c -
— e
27 T & 5
Forg=1and v ﬂ%ifﬂ—dikﬁk and F:.:s-c.
s T Vo b ”'nrb ; t;, to t3 ts L5 Ta
=45 —4 ] 2 h
What will be the complete expression for B 7 -
]
. Fat M s — {Ej _ .
(L ﬁi':".-ﬁj-—_ﬂaiz M rT q["'-"' ™ EF} —_ 0Oy
& = -
Y A B it ~20f ﬂ.pﬁ :liﬁf-r‘fjﬂﬂi A& J (3) oV
@ -8i-8j-6k
g BV
jﬁ{ 6i—6j-8k B @ E e e
_-,[—}Jf_...'_ % Jﬂ;’? g:}d'll%
T e ™ -4R - : , ‘ R
(1) 8;+8;-6k A, 42.  From a circular ring of mags M and radius R an
4 are corresponding to a 90° sector is vemoved. The
0. Two conducting circular loops of radii R, and R, moment of inertia of the remaining part of the ring
are placed in the same plane with their centres about an axis passing through the centre of the
coinciding. 1fR > >Ry, the mutual inductance M ring and perpendicular to the plane of the ring is
between them will be directly proportional to: K times ‘MRZ Then the value of 'K’ is :
| Ry i 1
(1) R, b=z
R4 3
D R/ o =
(2) H—E }] 1
Ha -
B T 5 L
® R, @ 3
2
)2 2 @ =
P s 4




43, Three resistors having vesistnnees v, vy, and 1
are comnected as shown in Uhe given civemt. The

Iy

patin <~

f
in the cireuit 18

of currenis i Lerma of renistinnees ured

l’a‘nnj clghs

i 'rE- fll '|"l‘|_
rrat AR
T i ! g E;‘-;‘L ﬁ"\'-.._\
o I"._""H-"'lf'l'l.'ﬂ A £y N
AR T LN\ e / T
bl S AARANN f
10.A by Ty
0 rh
(1) L o s bn w17
T+ 1y k x
lﬁ - ,t_l:j... 3
1y FI, fl"r L3
[ﬂ ]"E + Iy =
3T
Iy 12
J}Y’ I'p +1q V= Lnll 7-@:1
\2
¢ . o T
1 LM
(4) \ S 45 4T
I & E--"t 5'
R i P % K B
Lo & — o 4Ty
44, A rar startﬂ??um rest and accelerates at 4 m/as,
Att=4s, a ball iz dropped out of a window by a
peraon sitting in the car, YWhat is the velocity and
acceleration of the hall att=6&?
(Take g= 10 m/s2)
il d
1) 2042 m/s, 10 m/s® s
gl
. ean 20w
. (@ 20ms, 5 mis? L=
{3} 20 ms, O M
& —

~L

(4] 2042 m/s, O

45.  Astep down transformer connected to an ac mains
supply of 220V 18 made tooperate at 11V, 44 W
lamp. [gnoring power losses in the transformer,
what ig the current in the primary eireyit, ?

Lo
AT 4A P - «_JE gﬁ,jﬁ
¥
@ 0.2A VA
{5 G %
[3} 014 1-1 L[&E
4y 24 -inz 1'1.3{ jﬂg

P

e - |

At .“l";nlmil ol mugse 0,15 kg jnlﬂmpped .fmm - L
I' e “r-"'llf““ the ground and rebounds to the z;ﬁhtj
Wight, .[]w magmtude of impulge IMparte e
|.I'If' I'”l“ 1M rl:_f- i” ”II‘I'-I:'!] ﬁf_',.flrl'," ' _____--"EE m
I -4 ?H&tﬁhﬂj‘ﬂ
1.4 bk min s U\E—'Eﬁ
; -
2 0 kg iy EiS ;2
W r,
R 4.2 kg miy [ys 2 ¥
LR
| e TR
2.0 kg mia 0 Hﬂ .

7. A series LOR cireuit containing 5.0 H induetoy,

80 I capacitor and 40 () resistor is con nected ty
5::"3'5 Vvariable frequency se source. The angular
frequencies of the source at which power
tramaterred to the circuit is half the power at the
resonant angular frequency are likely to be -

(1 42 radfs and 58 rad/s
(2} 2G5 rad’s and 75 rad/s
(3  50radis and 25 rad/s

4y 48 radfs and 54 rad/s

48. A uniform rod of length 200 em and mass 500 g s
halanced on & wedge placed at 40 cm mark. A
mass of 2 kg iz suepended from the rod at 20 em
and another unkncwn mass ‘'m'1s suspended from  *
the rod at 160 cm mark as shown in the figurs.
Find the value of ‘m’ such that the rod 5 in
equilibriurm. (g— 10 miz®

Gl E
0 20cm 40 cm 160 ¢m
HE seRfr )
" |
d ke ! [ml
il Caid "
O — ke 9 xQo = 640"
uly’ The
~ ; " 5 + POy
1 a =310
@ ke
& Ip = | 4w}
=l
] 12
; Zizle
(3} 3 B
1
— k
(4} 5 4
o kY
o
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il

il

i,

M__
235

pi e T
R iie e ?;’%E\ ISULE
Y - T
e Ane i - - J-Irl.:'H aption for E”‘thﬂl
A particle moving i eivele of rachus | owath o | 58, (‘house the correct B hich shows a graph
upiform speed takes o time T to complete one representation of Boyle # law, ¥ w ffopent
e ) ' ; .  of a gas at difiere
pevolution, = E of presaure Ve, vl Lme
Eio ; ¥ e
1f this particle were projected with the snme speed temperatures:
at an unglu_ W to the homgontal, the maximum
height .E!l.tﬂl]‘l_ﬁﬂ by it equals 41 The angle of T | |I
p1‘qu{:Mﬂﬂ. i, 15 then given by {L it f
L - L:I—r"_'___,_, = 1 II"._ _
l. W - T F_".f ! o
, o[22 g | \ N 600 g
JE- R 5 0 0 EE| N\ T00K
i | : o -
Ve N ; —
N E . 047t #&5 oF ‘wnlu]nn:z1 (V)
(@ l=cos = ﬂ@{;‘- z L O (dm*)
h_ﬁ E..-I, Q’f’f/i{?{- [}'g_ -
5
-, -I-- e / ¢ “ .
£ '..'ER & ® f‘:}a
(3 B=008 T —> 10 ™ | W
BL vy e | = ! ll'-., \ik
1§ X ) BB ~200 |
[_E 1% A I e B
4| =R p ] (1
(4] =sin | —— T :
E_rl.E oy = i
* 4 Volume (V) —
: (dm#)
A uniform conducting wire of length 12a and
resistance ‘B’ is wound up as 4 current carrying
eoil in the shape of, T
¢i anequilateral triangle of side ‘&’ o2 200 K. 400 K, 600 K)
@) asquare of side ‘a” E‘H Eille L
The magnetic dipole moments of the coil in each (3 E E
eage respectively are A
S 1 :
(1) 4 In?and 3 1a? aenF 2 —~
i Volume (V) —»
@  y3lafand3 a2 (dm™
i3 3Ta%andla®
()  3la*and 11a° T
Section - A (Chemistry) By
. [ KR
Right option for the number of tetrahedral and W E :_%
octahedral voide in hexagonal primitive unit eell ;EJ-,‘
are ¥ .
{n 12,6 ‘v't-ltéme (V) —»
(dm=)
ef(2) B, 4
@ 6,12
4 2,1 N22EN4 4. The 1‘iEhT- option for the stalement “Tyndall effect
| Pl boRS L ia exhibited by, is

Ty (Z = 40) and 11f (£ = 7Z) have similar atomic and
jonic radii because of:
() having sunilar chemical propex tics
(4  belonging tusame group
(3 diagonal relationship
v {4 lanthanoid contraciion

(1} Urea golution
(21 NaClsolution

3 lucnae aolution

e ) Staych solution
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TR e R T R S e L B
65.  Whichone nmeng the following js the [1:-='1-;:ul.npl:mn 1. The RBO deficency 1e deficiency disease of -
for right relationship between ["I,nml iy JOERRE (1) Yitmmin [y,
mole of ideal gas ?
AOpBeaLEnp L2 Vilamin 13y
() Cy=RCp i
@ CptComR [ Vitamin By
v Cy=
,{ﬁ] Fi"_{"l.' 1 (43 Vikamin H;
‘.ll:l ':.1'.3 = H'[‘\I' i o
- 62. The molar conductance of NaCl, HCL and
a6, The structures of beyyllium ch loride in H{]Jld alate GH”“{JUHH :'J.f.‘ir.lﬁ'r‘l 1t dilution :IH‘{? 12645, 426,16
and vapour phase, ure * and 91.0 8 cm? mel ! respectively. The malar
5 s R ey ) eonductance of CHyCOOH st infinite dilution is.
\ Chain in both ) Choose the right option for your answer.
¢ (2} Chain and dimer, reapcetively (1) 540488 cm%mol = |
(3)  Lineari ;
I.HEHL in both (2} 201.28 8 cm® mol !
(4)  Dimer and Linear, respectively B
(3 390713 cm? mol 7
57.  Tritium, a radioactive isotope of hydrogen, CMitS (4)  698.28 8 cm? mol -
which of the following particles ?
(1} Neutron{n)e R @ The incorrect statement among the following
42} Beta(p) : i 1%
. A
3y  Alpha (o) . ; ()  Actinoids are highly reactive mectals,
@ Gamma(y) egpecially when finely divided.
_ (2} Actinoid contraction is greater for element
58. The major product formed in dehydvohalogenation to element than Lanthanoid contraction.
ti ; & Pent-2-ene. This - _ -
;ij;;ztnfgiiﬁ:?iz E;::EI:E;E Pen . (3}  Moat of the urivalent Lanthanoid iona are
: colorless in the solid state,
] Huckel's Rule :
) ; )—/— (4)  Lanthanoids are good conductors of heat and
(2)  Saytzeff's Rule FJ electricity.
(3)  TTund’s REule
.4  Hofmann Rule 64. StatementlI:
; . - Acid strength inereases in the order given aa
§9. BFjis planar and electron deficient compound. IH[F << T mg‘i{ HEBr << HI.
Hyhridization and number of electrons arou nd the
central atom, respectively are: Statement 11 :
(1) sp®and$8 o As the size of the elements F, Cl, Br, [ increases
@ spland4 . down the group, the bond strength of HF, HCL,
: : HBr and HI decreases and so the acid strength
(3) spiandé increases.
2
o 4 sp-andb In the light of the above statements, choose the
) eorrect answer from the options given below.
What is the IUPAC name of the organic compound prene
frormed in the following chemical reaction ? (1) Statement I is incorrect but
Statement, I1 iz true.
5y O H-MgBr, dry Eth : ;g
Acetone 1) F?-H 2 fi I.’il I—S T _}Prudur.:x[; 2y  Both Statement 1 and Statement IT are
(i) Hy ]’ = truc.
] #.methy] butan-2-0 - ) . i
o (1) - o A (9  Buth Statement I und Statement 11 are
()  2-methylpropan-2-0 0B false.
. AR | i S
(3  pentan-2-0l i 7 )  Statement I is correct but Statement Il
.ntan-3-u o b iz false.
[dj pe Il-ffl 1 ""-i,-.“l-
i
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.[..-f:l,*__i: ":! Z, q }‘,‘. !.-\t:r

& G2

~u TR L I R T
TR ST ST g o 11
£ 1y oo g e i e ;
2000 RNA - hen . rinCq e (i P3
) SRERS I T L L
The correct structire of @ @31y T Rk _ .
18 Pl 2 6T e by l-dese- oo a0, The fiﬂl-!:w|:1|.:Hrriilflf.lrm?_,‘r""'i"'e' prepared by clisaolving
1 H‘nl'ghr::rrur: ) f“J i 1 b 100 ¢afiml of water {P[]i*
| 100 of uren (CH NGO in 260 ml of weater (I’ AN
B L 3 g Ja\ 1 g of pucrose H_fl.j:HHH{J“J Pn 250 m-].nf
(1 ||: ) b L - wler fi|:':|l'. The right. HIH.JI-'I:Lrlr fulr: I#{rj”r::r:;;rll;mﬁ
- e A g areler of oamaotic presgure oF these B A
’ '\'\"\-\_, H‘x. -~ e “} [1:1.___]” y !IH ‘,.I .}iill."'r 'rf,
.{E} |]:,-! - I]I S FJ:! p A -”::
A k @ P >Py>ly Lo
(2) i) TPyp=Fy=F
P e 70.  The correct option for the number ”T'h’e'f ly j-'i'im-""fj
unit cella in all 14 types of Hravais Jattice unit
cells i :
(1 o e ik
(3] o =T YA
e S [ﬁ g ¢
. &
71. The maximum temperature that can be achieved
= in blaat furnace 13 :
(4) /(\ 1) upto5000K
4 (2)  upto 1200 K
= o3 upto 2200 K
) upto 1900 K
The correct sequence of bond enthalpy of C—X'bond | 72. For a reaction A—B, enthalpy of reaction 1s
18 ~1.2 kJ mol ™! and enthalpy of activation is
i : 2 : g ¢ kI mol~ ! The correct potential encrgy profile
# (1y  CHy-Cl=CHy—F=>CHy—Br>CH; -1 for Lhe reaction is shown in opticn,
3 CHy—-F<CH,-Cl<CH;-Br<CH,-I k
e f.jH:j_F}ﬂH:ﬁ—El = CHH—BI'}EHE—I T l,.-'j/ﬁ‘\‘ : ;
(4} CH,—F<CH,—Cl>CH,—Br> CH;~ gl S P
(1) B
|
A particular station of All India Hadio, New Delhi, Reaction Progress
hroadcaszts on a frequency of 1,368 kHz (kelohertz), e -
The wavelength of the electromagnetic radiation (Torl-5* o
emitted hy the transmitter iz @ [epeed of light, X A .fﬁ R -
c=3.0x 108 ms™ '] axlo ! % Tande 2a
Tquc? PE| / —m_~ 5 =
(1) 2192em ek . & : il F 4 g
%~ |3eR 10 AD 4 , =
j : : B ‘ = = 2
i Sl it 5 290° ﬁ:— lr:?'ﬁ Reaection Progress _
@  2192m = A 5 e 1 #yegsn
. T3aso 2718, 57
4y 2192m P rj&ﬁi}_ﬁ = T /“1., :
A S0 PE \
& i f 1 _|id I""g::l ! .ﬂl:l!l.. -
The pK;, of dimeth ylamine and pK, of aceticac g 5
are 3.27 and 4.77 respectivelyat T (K). The correct =
aption for the pH of dimethylammonium acetate Reaction Progress
aolution is W ¥
(1) 623 B2y i ; 5
S A (N PR
(2) 850 vef .
5 %{ - ,,f_*|_.r3 E-Eﬂ'-r-i {',.1:' PE A ]11',
H 540 “4 i1
Ly e o
s 14 R @}L 0 G Keaction Frogross
vy




P3
74,

12
Thl‘u'mnphlund 'ﬂ.hl- h |-"I1_-|:uh e s ey gy i8 77, ]'.Ihr ey -h-nrnru-fwf.r:g.-.u-:}!.'rlir- I'F']f_}'T."'u’J L R
e (1} CaH L0 i1 ¢ P | e
iy 1 - 0 I!r:.r,._r-”-.r: I’i.J_'"-"""! '_p,-lH_'] Fhrp-u- by l'j'-l"lnr:”c-
¥ # THEF ML R
iy CLH 0 L
; 1 - . i) Hesaderniala bEte el iy it Froar TN e b
¢ i 11i|.” L N bt s rafria
The major product of the foallwing chemion] ) Froedentate higaned
R T ATRT T (4 Birlentate higand sith twe "N demior atesma
N,
.t H e T = Ol 4 Hia il -.Ii”._ll'l ”;:ll :I_;,h y, TR, Which cme of 1 he Fillerw ing methedds can Fuer cpmee] 8
il !H ; ahtain highly pure metal which 12 ligued at roen
temporaturs
tH,
& e - CHg - OH; W HemRreing
l-. 'H_-_| - I"EJ I*',|r'-r'!rn|1;'.|l.-a
i‘H:“~ i {hromatography
(2) ‘H=CH,~CH, -~
. CH CH=CH, —( H'.:’. Br i) Dhiatillation
4
CH., e S SRE '( 75‘) Identify the compound that will react with Hinstere 5
(3 ol _,[ H-CH, - CHy - 0-COCgHg T reagent to give a golid which disaclves in alkal
3
CH. CH,
CHg TP as o
) “CH - CH- CHj () CHj T CH;
CH.” |
4 Br CH;
Which of the following reactions is the mletal ,,.-"{: Hi‘_‘h
displacement reaction 7 Choose the right option, (2)  CHj NO;
(1) 2Pb(NO,),— 2PbO + 4NO,+ 0, T CH. CH,
@) 2KCIO, —=— 2KCl+ 30, @ CHY TSN~
3 Cry0,+24) —2 5 ALO, +2Cr _CHy
(4) Fe+2HCl— FeCl,+H,T @  CH7  TNH:
' Jow are tatements : ;
Given below are two statemen 80. Among the following alkaline earth metal halides
Statement I : one which is covalent and soluble in organu
Aspirin and Paracetamol belong to the class of solvents is:
narcotic analgesics. (1) Beryllium chloride
I: ¥ :
Statement [ 2 | - 21 Caleium chloride
Morphine and Heroin are non-narcotic analgesics. % _ .
P (3]  Strontium chloride
In the light of the above statements, choose the
correct answer from the options given below, (4 Magnesium chloride
(1) Statement I 1is 1ncorrect but .
Sratement I1 18 true, 81,  Dihedral angle of least stable conformer of ethans
() Both Statement | and Statement [] are e »
true. RSV )
(1)  Buoth Statement I and Statement I are @ 1200 _ E i
o 3 180
(4)  Statement I 18 correct but Statement 11 ©
16 false, ) 60



3.

8.

BB,

36.

An OrRAnIC :;Iumpmmd containg 78% (v wt.) envbon
and remaming percentage of hydrogen, The right
gption for l:he- empirical formula of this compourd
i [Atomic wt, of Cis 12, H is 1]

m  CH, Cog Moo

@ CH 12

3 CHy .fﬁ_.:' Wog o

) CHy e a df
s ' 5

Noble gases are named because of their inertnegs
towards reactivity, [dentify an incorrect
statement about them,

(1) Noble gases have large positive values of
clectron gain enthalpy.
{2}  Noble goses are sparingly soluble in water.
o3 ?u"(}b:]e gases have very high melting and
boiling points.
(4}  Noble gases have weak dispersion forces.

Which one of the following polymers is prepared
by addition polymerisation 7

(1}  Dacron
(2}  Teflon
#3)  Nylon-66 1 o
, (@ Novolac 7 .P 25
Mateh Eist-Twithitist-li;
List -1 List - I1
(ay PClg N (i} Square pyramidal
) SFg - | . _Aid) Trigonal planar
{cy BrFy -{iily  Octahedral
@ BF, 7/ “_(iv) Trigonalbipyramidal

Chooae the correct answer from the options given
below.

(D (a)-(iv), (b)-Gid), (c)-(id), (d)-(1)
(@) (a)-(iv), (b)-Gi), (0)-(), (d)-(11)

@) (a(i), (b)), (©)-v), (@)

@) (a)-(idd), (b)), (c)-(iv), (d)-(10)

Section - B [Chemistry) ()

For irreveraihle expansion of an ideal gas under
ssnthermal condition, the correct optionis:

1) AU=D0, ASpya =0
@  AU=0, A5 =0
3)  AU=0, AS, i #0

@) AU =0, S #0

At

13
7.

™

(s 43
ot on®
Mateh List - T with Lint - IL.
List - List-11  [i(-2)
) [Fe(CN)]® Gy  5.92BM
b [Fe(sOytt \ @ OBM 7 25
] 7
@ [FeCN)i= /1 G 1.90 BM
) [Fe(Hy0))*" Aiv) 1.7 BM
Chpose the correct answer from the options glven
below,
() (a)-(iv), (b)-(), (-1, (d)-(ii1)
F

@ (a)-v), (o)-(id), (). (d)-(iii)
@ (a)-(ii), (b)-(iv), (e)-{1); (d)-(1)
@) (a)-(D), ()G, (£)-(v), (d)-{i)

The product formed in the following chemical

reaction 18 .

0 0
I
CH;—C-0CH;
NaBH, o
CH, C,H;0H
OH 0
Il
CH,—C—-0CH,
(1)
CH;
OH H
|
{.IHE—!IJ—D[IHH
(2) OH
CHy
0
® | ]
OH H
|
EHE—{F—UHU
) 0TI
CH,



P3
89, 1 which one of the following :I.l‘1‘rl1‘l|=t1‘:“-'l'-’-“"“ the
piven sequence 18 not strictly according to the
properties imdicated against it !
(1 OO, <510y Incrensing
< 8n0, < 'Oy acidlizing power
N HF < HCl Increasing acidic
< HBr < HI atrength
Lk H,O<H.8 Increasing P,
< H,82 < Hyle values
(4 NH, < PHy Increading
< AsH, < SbH, acidic character
. NaOH, +7 %
9. CH,CH,C00~Na* —22- —— CHyCH,
- en
:"'lTE.EE'D::l.
Consider the above reaction and identify the
missing reagent/chemical.
{11  DIBAL-H %
%
2] ByHg o
(1)  Hed Phosphorus 5 0
(4;  Call Ry
91, Which of the following molecules is non-polar in
nature 7
o) NOy & Bmnev
& POCL -2
@ CH,0 - o ”
(4} SbCl; b= rh?
o, h
82, Mateh List - I with List - 11
List-1 List-TI
(m) 250,(g)+0,0g) — () Acid rain
260,)
m HOClg)_"* . — (i) Smog
OH+Cl1 \
)y CaCl,+H 50— (i) Ozone
CaS0, +H,0+C0O, depletion
) NOyg ", (v} Tropospheric
NO() +Ofg) pollution
Chouse the correct answer from the aptions given
helow .
0 (@), (b)), (0)-iv), (d)-0)
2 {a)-G), (b)-{it), {c)- (), (d)-{iv)
S8l (a1, (b)), (e)-(iv), (d)-({)
4 {a)-v), (b)-(ud), (e)-(1), (d)-(i)

L4

4.

95,

96.

r!""

4L . r EaEry .
I'he: mnlurr t.rmJL:ul,r.u,ll;_y of LT M acstic acid g | &
208 ecm? mol™ ', What ia the diHH”ti'it.jr
ke s atloy
eonstant ol acetic acid ¥ Choose the sorraet Uptiog
I

TRy Tl I
,ﬁH_I_— 400 5 em” mol {H
| A _ =808 em* mal ! <7 P
L GH000 o
F2 ey
y C 5
(1) 2.60%107% mpl I~ 1 2
24 —4 -1 -
(2)  1.76x 107" mol L &Dﬁ Iy
@ 250x1071 mel L1
_5 [ 4 Hﬁ:a h;ﬂ/i:?
4y  1.75%107° mal L~ i ‘) ?1;3"" 24
BE

Chonse the carrect. option for the total presaure
{inatm.)ina mixture of 4 g 0, and 2 g H, confined
in a total volume of one litre at 0°C is ;

[Given H=0.082 L atm mol~ 1K -1, T=273 K]

1 2602 g % g
. N >
2y 2518 | |
(3y 2802 % ﬂ.ag;
s o ok Jie"—f e
o1} 2518 G| % 23
4,
T 7 pe 732 352
ﬂ'+j‘a-}%t_g—f }re"_r'lr.?_.]'.l:l =

The correct option for the value of vapour pressure
of a zolution ar 45°C with benzene to cetane in
molar ratio 3 - 215

[Al 45°C vapour pressure of bénzene is
250 mm Hg and that of nctane i 420 mm Hg.
Agsume Ideal gas)

1) 3b0mm of [1g
2y 160 mm of Hg
(@ 168 mm of He
o141 336mm of He

From the following pairs of ions which one 18 not
aniso-electronic pair ? :

S Fe*' Mn2t ,
2 Geas
(3 Nu=, Mg+
(4} Mn2Zt, Felt
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di
, The interme iate compound X in the following
b e mical reaction ia :

CH,
+ Er{ ]21._'].:, {JSE »

“
==

““‘*H

3 @/CII{DGI{JHGL )

CH(OCOCH,), ,

The reagent ‘R’ in the given sequence uf chemical

®

regaction 13 :

NH,
% ) Mk, HET B

T a-6C

Br Iir Br

A CulN/KRCNS

2 Hy(Q

3 L‘HHUHE{}H

4 Ml

: ' W
M. The slope of Arrhenius Plot | 1n kv/s T | of first
/

arder reaction is —5x 103 K. The value of E, of
the penction is. Choose the enrrect optivn for Four

ANSWET,

[Given R=8314JK" 'mol 1]

i1}  —83kd mol™?

2 41.5k] mol™! . ghe ”T

@ &3.0kJmol ! i, anfl ¥ Jﬁj
=

(4 166 kJ mol 3

_LI"'LR"'-— =

P3

- +h List - 1L
100, Match List -1 ith List -
List -1
o HCL | (i) Hﬂ].l*v:ﬂhal‘d
(&) Anhyd ALCLy 7linsky reaction
CulCl
& R-C-CHyt (i1) Ec; i
NaDx—
(i) Haloform
@ Koo renction
Conc, Hugﬂj 3 \ﬁ
d  R- CH,COOH v) Rsterification
i) XoFed P
i) HoO
Choose the correct answer from the options given
below.
A IR (b ={ia), (&)-(1v), (d)-(1)

@ (e, (h)-(3), (e)-(id), (d)-ud)

@ (a)-@i), (b)), (c3-(1), (d)-(1%)

)y (), (b)-(iv), (o)1), (d)- (i)

Section - A (Biology : Botany)

101. Which of the following stateme nts iz not correct 7
Pyramid of numbers in a grassland

(1)
ecosystem is upright.
) Pyramid of biomass in sea is gencrally
inverted.
.{3)  Pyramd of biomass in sea 18 generally
upright.
{4)  Pyramid of energy is always upright.
102  Which of the following plants 1s monoecious ?
{1} Cweas eorecnalis
2y Carica papaya -
-{d)  Chara
4)  Marchantia polymorpha

k{@ ;Fh:c first stable product of CO, fixation in sorghum

{1)  Phosphoglyceric acid
2)  Pyruvicacid

@) Oxalowcete acid

) Succinie acid




B3

I'IE':‘” Diadelphous Atamens aee fownd 100
(1} Uhing rose nnd citrus
2) China roae
() Citrus
Y Pea

105. DNA strands on g ol gtained with ethidium
bromide when viewed under UV rndiation, appear
i T
(1) Bright blue bands
(2} Yellow bands
(3] Bright orange bands
(1) Dark red bands
106.  Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures, This ability iz ealled :
() Maturity
(2)  Elasticity
(3)  Flexihility
() Plasticity
107. Match List - I with List - 11
| List - I List - |
(a) | Protoplast fusion - | () [Totipotency
(b) | Plant tissue culture | (i} | Pomato
(c) [Meristem culture | {iii) |Somaclones i
(d) | Micropropagation (iv} | Virus free plants
Choose the correct answer from the options given
below.
(a) (b) (o) (D
(L) av) (ui) @) @)
(2) G} Gv) ()
» (3) (W) () av) (i)
4) (@m  avy G (i)
108. Inthe equation GPP—-R=NDPF
R repreoscents :
. (1) Respiration losses
(2) Radiant energy
(3)  Retardation factor

(4) Environment factor

The production of gametes by the parents

R formation of zygotes, the Fy and I, plants, can be
understood from a diagram called -
(1)  Netsguare
(2)  Bullet square
(3 Punch sguare
«(d) Punnett sguare

- oy '--f ':'.I' [- ]
Ali2oolU4

e

F

'_I.HL Which of the following is an i‘m‘-"-'l'e;;ti
stntement ?
(1) Nutlear pores nel an passages for Protein. |
: : £1ny
and HKNA maolecules in hath directing.
hetween nueleus and cyvtoplasm, 2
(¥4 Mature gieve tube slements Posteg,
conapieudus nucleus and vsual YRl ami.
organellesd,
(3)  Microbodies are present both in Plant, g
animal cella,
(1)  The perinuclear space forms a barrie,
between the materials present inside (b,
nucleus and that of the cyvtoplasm.

111. Mateh List -1 with Liat - I,
i List -1 List -1
ia) [Lenticels (i} |Phellogen
(b)) |Cork cambium (1) |Suberin deposition |
() [Secondary cortex |(iii) |Exchange of Tases
id) |Cork (iv) | Phelloderm
Choose the eorrect answer from the options given
below,
(ay () (& (D
(1 v @ @ D
2 Gv) @ @) G
(3 A @ vy b
(4 @ @ G G

112.  The amount of nutricnts, such as carbon, nitrogen,
phosphorue and calcium present in the soil at Any
given time, is referred as -

(1}  Standing crop

()  Climax

(3) Climax community
(1) Standing state

113, The term used for tranafer of pollen grains from |

anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to st B, 1%

S Cleistogamy
2 Xenogamy
(3 Geitonogamy

4)  Chasmogamy

114, Which of the follg wing stapes of meiosis involves
division of centromere ,
(1)  TelophaseI
A42)  Metaphase |
()  Metaphase [1
*(1)  AnaphaseT]



L

which of the tollowing ia s porrect REOLE
: LT 3
ctope 1 4 PCRAT '1]1}'111{2-!'”&'- ("hain Reactio

Annealing, Denaturation, Kxtension

(3

Denaturation, ,.1]111[_,&1111% I

xtenaion

Denaturation, Extension, Annealing

(4 Fxtension, Denatuyation, Annealing

nee pf
1Y

: When gene tEL‘l‘gEttj-ﬂH mvolving gene amphficatinn
3 grternpted 1n an individual's fissue to treyy

17

118, The factor that leads to Founder effect tn a

19,

Jizease. it 1s known ag

(1)  Safety testing
(2]  Bropiracy
.3 Genetherapy
4)  Molecular diagnosis
hacch List - 1 with List - IT.
[ List -1 List-1I
() |Cristae gy [Frimary constriction in

: chromosome
1 1. | ern [THse-shaped gacs in

nylakoids )
_{bJ T : u Golgi apparatus
i e [ Infoldings 1
Ll_“_u} Centromere | (in) r:itm:huixl
Flattened membranous
(d) [Cisternae (iv) |2ace in stroma of
plastads
{(*hoose the correct answer from the ophions given
helow.
(a) (h) () (d)

iy G vy (D
A I R § (Y B T R o
@ ) vy () ()
L ) G @ @

popalation s

(1} Geneticdrift

(% Natural selection

(%  Genetic recombination
(1, Mutation

When the centromere is situated in the mid dle of
two aqual arma of chromosomes. the chromosorne

s referred as

1) Acrocentric
«i2)  Metacentric
(3)  Telocontric
)  Sub-moetacentric

7

120, (jemmae are presentin:
] I i H
dopme Laverworl

P3

(1)
) Mowses
(@) Prer dophytes
(43 Qame Gy MNOEPeTIs

pa for re combinant

121, During the purification proce -

DNA technology, addition of chilled eth

precipitutes out :
(1) Pnlysaccharides
@  RNA
() DNA
(4y  Histones
122, Match List - [ with List - IT.
List - I List - 1I
, .. |Mare attraction 1n
(a)|Cohesion ~ (i) liquid phase
& : Mutual attraction
(k) [Adhesion ~ _ |'(il} jamong water
N < malooules
| ... |Water loss in liquid
(ci |Surface tensicn ; (1id) S
) ..fﬂ', . . |Attraction towards
(d) |Guttation {1v) T
Chooae the correct unswer from the options given
helow.
(@) (b} () (d)
(0 w @ ) ()
SF G 6wy @ (m)
B v ) i )
(4 @) () (iv) i1
123. The site of perception of light in plants during
photoperiodism is ;
(1} Leat
#4] Showt Apex
(3)  Stem
@ Axillary bud

124. ’_l‘h_u plant hormone used to destroy weeds in a field

15 ]

(1} IBA
o2 [AA

(31 NAA

4} 24D
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126, Which uf the following algae produce Ly

(1) Blue-preen algne
Y Greenalgne
(B Birown algac

s LB Hod algae

126. Complete the flow chart on central

@ (bNna 2 mrna 5 @

prgoen Y

dogma.

(1) (u)-Transduction; (b)-Transla tion;

(c)-Replication; (d)-Protein

(2} (a)-Replication; (b)-Tra nscription;

{¢)-Transduction; (d)-Protein

. o (R lication;
(3)  (a)-Translation; (b)-Rep o

{&)-Transcription; (d)-Trans

o) (a)-Replication; (b)-Transcription;

{c)-Translation; (d)-Protein

127. Which of the following are not
metabolites in plants ?

(1} Rubber, gums
(2) Morphine, codeine
. 3 Amino acids, glucose _

(4}  Vinblastin, curcumin

gepcondary

128. Insepite of interspecific competition :11_1 nature,
which mechaniem the competing species I ght

have evolved for their survi val 7
(1) Predation

o2 Resource partitioning
(3) ‘ompetitive release

(4)  Mutualism

12 {Polymerase Chain Reaction} ?

(1) Detection of gene mutation
(2) Molecular diagnosis
(3  Gene amplification

(4) Purification of isoldated protein
3

of the following is not an application of PCR

15

L,

131.

132,

133,

134.

135.

Matdeh List - [ with List -T1.
P I II_IIH '-;I__" -I- .-i- ﬂt._—ﬁ_ ——\.__l |
) {ells with poetive ni:l.l i Vaseular '

division l::rl_jlill'!jtj.-"

Tidaue having all colla
(b) [similar in structure 1)

LiBHUGE

Meriatemat,

. AL P
nndd funciion i

E} Tissue having ; ; N -
different types of cells
Dead cells with highly
(d) |thickened walls and | fiv)|Simple tssue |
narrow lumen ik
Belect the correet answer from the options given
helow,
(a) (b (© (d)
(1y gy @) vy )
J2) (i) ) D) (iii)
(3) (iw) A @) (i)
(4 (1) (i) () v

—

fiii) | =clereids

A typical angiosperm embryo sac at maturity is:
(1)  Bnucleate and 8-celled
() f-nucleate and T-celled
£(3) T-nucleate and 8-celled
{1} 7.nucleate and 7-celled

Which of the following algac contains manmtol az
reserve food material 7

(1} [Hothrix
v {2) Fetocarpus
(3) Cractlaria
(4) Voluox
CGenera like Selaginella and Salvinin produce two |
kinds of spores. Such plants are known as:
e (1) Heterosporous
(23  Homosorus
{3) Heterosorus
(4)  Homuosporous

Mutations in plant cells can he induced by :

(1 Zeatin

(2] Kinetin

(3) Infrared rays
ey Gamma rays

Amensalism can be represented a8
(1)  Species A (+); Species B (0]
.(2)  Species A (—); Species B (0}
(3)  Species A (+); Species I (+)
(4)  Species A (—) ; Species B-)




(36

Section - B (Biology . Botany)

'|||]|_"|“.'|1_ 'i.H 1:]'“" 'H,'lh" I'-Ti" ]{:"‘:I'J\_ .i.“'II'H-“l"[."I"“H{" |I| 1

process of transeription M eukaryntog ke

() Transeribes only g, RNAs ‘ |

(2 Transcribes rRNAs (288, 185 11d f.HS)

. (3 I’I"1:11|m-:r}hua tENA. e rRNA nnd aRNA
) Transcribeg Precurane of m RNA
i Select the correct pair,

(1) Looze parenchyvmg cplls - Spongy
rupturing the epidermia \
and forming a lens. e e
shaped opening in bayk

#  Large colorless empty - Suhbsidi
cells m the epidermis T
of grass leaves

31 Indicotleaves, vasrulay - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells

(4)  Cellsof medullury rays - Interfaacicular
that form part of cambium

. cambial ring

138, Plasmid pBR322 has Patl restriction ENZYME site
within gene amp? that confers am picillin
resistance. Ifthis enzyme is used for mserting a
gene for B-galactoside production and the
recombinant plasmid is inserted in an E.coli strain

(1)
@

v (3)

4

it will be able to produce a novel protein with
dual ability,

it will not be able to confer ampicillin
resistance to the host cell,

the tranaformed cells will have the ability

to reaist ampicillin as well as produce
B-galactoside.
it will lead to lysis of host cell.

139. DINA fingerprinting involves identifying differences

in some specific regions in IDNA aequence, called
ae . '

Polymorphic DNA
Satellite DNA
Repetitive DNA
Single nucleotides

40. Inthe exponential growth equation

N;
(1)
(2)
3
o)

=N_e™, e represents :

The base of geometric logarithms
The base of number logarithme
The hase of exponential logarithmes

The base of nalural logarithmsa

1%

141,

142,

143.

144.

Which of the

o (1

{2)

)]

(1)

Which of the following atatements 18 o

(1)

(2)
(3)

4

P3

R t?
following slataments s incorrec

{ 'yl |;|hnfnphrmph;;rr_'g.-'hrt.jrrn invilves hoth

e | and PSIL
Both ATP and
H_f,,rnl.hf-Hi’.r.i!rl during
]Jhnumlmﬂ;}hnr}flﬂ’ninn.
gtramu lamellae have 'S [ only and Iack
NADP reductase.

llae have hoth PS [and PS T

Arie

NADPH +H?

non-cyelic

(irana lnme
rrect ”
Yome of the organisme can fix atm napheric
nitrogen in specialized cells called sheath
cells.

Fusion of two cells ia called Karyogamis

Fusicn of protoplasma between two motile
ot non-motile gametes is called plasmogamy.

Organisms that depend on living plants are
called saprophytes. -

Match Colummn - I with Column - I1.

Column -1 Column -II
(a) | Nitrococeus, | (1) Denitrification
| ... |[Conversion of
— p o
ek pieiizaninrl ) ammonia to nitrite

Conversion of nitrite

() | Thiobacillus j:ﬁjj} M
S| |Conversion of
(clf | Nitrobacter | (iv) |atmospheric nitrogen
0 Ammonia
Choose the correct answer from options given
below,
(a) (b) () (d)

() vy () @) (@)
Vi @m vy ) (1)

@ @ @ ) ()

@ ) @ v (W)

Which of the following atatements is incorrect ?

(1)

Oxadation-reduction reactions produce
proton gradient in respiration.

During aerchic respiration, role of oxygen is
limited to the terminal stage.

In ETC (Rlectron Transport Chain), one
:11':1’1:3:.:1.11& of NADH 4+ H* gives rise to
2ATP molecules, and one FADH., gives rise
to 3 ATP molecules, i

ATP is synthesized through complex V.
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145, I
|l_1 HOPE e e vl whieh of {he following prirs
O b, Pollon greaime retpin their vinbility for
ont hus afyge relegan
. II L]

il Rosaeens ; Legnmmosne
N ¥
(4 | L TR TR Hl'll-.[ll."l"m‘
:‘ L] ¥ L

wid Poscenp Lagumanosne
N

3 X
Poacenp CEolanaeean

146, :
ldent Hy the Correct slatemeont.

W Sphit gene areangement is charncteristic of
Prokarvotes,

vk . i f

2] 111 capping, methy] guanosine triphosphate
18 added to the 3' end of hnANA.

31 RNA polymerase binds with Rho factor to
terminate the process of transcription in
bacteria.

(4} The coding strand in a transcription unit is

copied to an mRENA,

147. Martch Column - I with Column - IL

Column -T Column - [T

(a) E-.:,.cf Ki5Chuayim89-18 H{i) Brasslcaceae

[ 1

(b) ﬂjcﬁﬁcmcmrﬁ'ﬁﬁi : xS {ii) Liliaceae
e YTy

(c) *":;P..uw:ﬂa—aﬁ[a:.-’ v, liil) Fabaceac

{d) *éﬁmgi-’ﬁz 49":2:::

(17} Solanaceae

Select the correet answer frum the options given

helow.
(@) (h) {c) (d)
I ' T+ R (Y B (1
J2Z) () () () ()~
@ O ) G v
() @ ) vl @7
148, Mateh List - I with List - T1.
"~ List -1 List - II
{a) [Protein — - |14} |C=C double bonds
(b} [Inﬁatuf'utﬁd i (ii} | Phosphodicater honds
Fatby acid !
ie) |Nucleic aead i) | Glyeosidic bondy
(d) | Polysaccharide | {iv) |Peptide bonds

—

e,
Choose the correct answer from the optinng given

helow.

(a) (b) (c) (d)

(1) vy Gy ) {11)
J(2) vy ) () ()
(3 Gy vy (u) ()
SR 1) Y (iv) (i)

21

149, Mateh List - T with List - 11
Lint - [ Ligt -1
¢ IFrrd.F'inﬁ Are
¢ ! M . | _
fa) |5 phase ' wynthesized
3 —
(b [ [.l"l.lll-'-!" Ifa.- 11) Ir.ulr-r.lr,-'n_ph;.f:, | _i
| Interval betwioan i
fr) (Quiescent atage | ()| mitosis and initiatign _
| of DNA replication
l:frl_}- E{ phaae fiv)| DINA replica tion

(*huowe the correct answer from the options gy,

] n | 1%,
(a) (b) (o) (d)
() iy (vl o) ()
(2) i) i W (v
3 vy oy (6 ()
() Gv) () fy (i)

150. Now a days it 12 possible to detect the mutated
genc causing cancer by allowing radioactive probe
to hybridise its complimentary DNA 1D a clone of
celle, followed by 1t detection using
autoradiography because

{1)  mutated gene doesz not appear on
photographic film as the probe has
complimentarity with it.

(2  mulated gene partially appears on a
photographic film.

(3} mutated gene completely and clearly
appears on a photographie film.

(9} mutated gene does not appear on a

photographic film as the probe has no
complimentarity with it.

Section - A (Biology : Zoology)

151, Erythropoietin hormone which stimulates BB.C.
formation is produced by -

el)  Juxtaglomerular cells of the kidney

(2 Alpha cells of pancreas

(3 The cells of rostral adenchypophysis

[

41 The cella of bone marrow

1/5:3.] Wllliuh af the following chavacteristics is incorrect
with reapect to cookroach 9

1 10% ghdoming] segment in both sexes, bears
a pair of anal cerci,

(2) A ring of gastric caeca is present at the
Junetion of midgut and hind gut.

(3) Hypopharyrix lies within the cavily enclosed i
by the mouth parte. '

(4 Infemales, 7thoth grerna rogether form ?

genital pouch,

15

15



'153. Succus entericus is referred to as -

(1)
(2)
2 13)
(4)

Chyme
Pancreatic juice
Intestinal juice

Crastric hwce

g4 Whi-?h stage of meiotic prophnse Ahowy
terminalisation of chisematy as its diatinctive
feature ?
(1) Pachytene
(2}  Leptotene
(3)  Fyeotene
#4)  Dialinesis

155, The partial pressures (in mm Hg) of oxygen (O,)

a;d carbon dioxide (COy} at alvesli
diffusion) are ;

,
'@
(3)
)

156.

ot g
POy =169 and pCO,=03

pil, =104 and pO0, =40
pO;=10and pCO, =45

POy =95 and pCO, =40

Match the following

List - 1 List -1I

(a)

Physalia -, | (1) |Pear] oyater

(b)

Limulus .7 (i) |Portuguese Man of War

{c)

Ancylostoqa i

Liwin g fossl

@]

Fim‘ﬁtu:f;_ . o {1v) | Hookworm

Choose the correct answer from the options given
below.

(1)
(2)
(3)
+(4)

157, During the process of gene amplification using

(d)
(i)
(1v)
(i1
(i)

(e}
(111)
{1}

(ii1)
(iv)

(b)
(1v)
(1)
(i)

(i11)

(a)
(1)

{i1)
(Tv)
(11)

POR, if very high temperature iz not maintained
in the beginning, then which of the following steps

of PCR will be affected first ?

(1)
a(2)
(3)
(4)

Ligation
Annealing
Extension

Denaturation

3F’f-he site of

21

158, Mateh List -1 with List - 11.

()|

P3

Lth- -1

List -1
Acetie Acid
Lactie Acid |

N = R
.|"1Hf.|'|'-'.r'_|r-_|rr-|lf|t|| e A r E_R'r.l.r- R {.ij

fh]l f‘lmﬂjm.f[: ur_rrr.r -—-—-_ﬂ]-f ’Ti
f{_} .f?f_t;ﬂf..l".fffr‘..'f-.l'-'l I"J'.'n'-.f_‘-'ﬂ-r:rml. ﬂ"ji] f-llr;f'iTld E:
{d}__lr.rﬂ:lrf_j'?”ﬂ"l.fnf e -__‘F I"Jl'l_.;]_;IilFV;”_- Acid |
(hoose the correct answer from the options given
below.

@) (b} (e} (d)
1 (v G ) (131}
M[Ea-" iy @y () (W)
oo @ G 6
@y gy D @ v

169. Which of the following statements wrongly
represents the nature of smooth muscle ¥

(1)

{2)
3
= (1)

Theze muscles are prezent in the wall of
blood vessels

These muscle have no striations
They are involuntary muscles

Jommunication among the cells 1s
performed by intercalated discs

160. Chronic auto immune disorder affecting neuro
muscular junction leading Lo fatigue, weakening
and paralysis of skeletal muscle is called az -

(1)
(2)
()
- (4)

161. Per

Gout

Arthritis

Muzcular dystrophy
Myasthema gravis

zong with ‘AB’ blood group are called as

ool g ¢ e
TUniversal recipients”. This is due to

(1)
2)

(3)
(4)

Abzence of antihodics, anti-A and anti-B, in
Plasma

Absence of antigens A and B on the surface
of RBCz

Absence of antigens A and Bin plasma

Presence of antibodies, anti-A and anti-B,
vn RB(Cs

162. The .frui’l_: fly has 8 chromozomes (2n) in each cell.
During intérphase of Mitosis if the number of
chromosomeg at (i, phase is 8, what would be the
number of chromosomes after phase ?

(1
*(2)
{3)
(4)

42
e
16
4
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163. Receptors for sperm binding m mamnnls g

present on:

(1) Zonapellucda

@ Coronaroadiata

i Yitelline membrane
(i Pernatelline space

Which one of the following belongs to the fanuly

164.
Muscidae 7
13 Housefly
2 Firefly
3] irasshopper
4 Cockroach
165. ldentify the incorrect pair.
Drugs Ricin
(2)  Alkaloids Codeme
3} Toxin i
¢[4)  Lectins Concanavalin A

1[:‘3] Veneral discases cun spread through

(a)  Usingsterile ncedles X
« (b)  Transfusion of blood from infected person
« (¢ Infected mother to foetus
« {d) Kissing
(¢) Inheritance
Choose the correct answer from the optione given
below.
(1)  (a)and (c) only
2 (@), (b)and (c) only
(3 (b}, (c)and {d)only
4 (b)and(g)only

167. The organelles that are included in Lhe
endomembrane 3ystem are :

(1)  (rolgi complex, Endoplasmic reticulum,
Mitochondria and Lysoaomes
Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes
Endoplasmic reticulum, Golgi complex,
Lysosomes and Vacuoles
(olad complex, Mitochondria, Ribosomes and
Lyansomes

(2)

(3)

-

(4)

168. For cffective treatment of the diaease, early
diagnosis and understanding its pathophysiclogy
is very important. Which of the following
malecular diagnostic techniques is very useful for

early detection ?

(1}  Hybridizaton Technique
()  Weatcrn Blotting T'echnigue
(3 Southern Blotting Technigue

_(4) ELISA Technique

22

170, A specific recognition gequence

1 chonse correct optiona.

18D Wil poegrd toinsubs ‘ .
. With regn L.Hﬂn.b'[nmat.u_r'emauhn_

(.poptide isnotpr

(] ! -
thy The ipaalin prod e by rDNA technology
Wit C-peptide. "
[ ' (- peplade,
(] r|'}1,¢_~_prtl-|nﬂ11hn has . L e
@y A-poptide and B-peptide of l’ﬂrJIJ.]l]‘]- ar
i icle hridges.

intereonnected by dipulph

correct inswer from the options given

{ '"hoose the

helow,

() (a)and (djonly
2 (byand (d)only
(3  (byand (c)only

(A (c) and {d) anly |
identified hy
endonucleases to make cuts at & pecific posttions

within the DNA 18
(1)  Poly(A) tail sequences
(2)  Degeneratc primer sequence
(31 Okazakisequences
& (1) Palindromic Nucleotide sequances
171. Which is the “Only enzyme” that has G apahihﬂf}"’
to catalyee Initiation, Elongation and Termination
in the proceas of transeription in prokaryates ?
(1) DNase
(%  DNAdependent DNA polymerase
[3) DA dependent BNA polymerase
(4) DNA Ligase
172, Which one of the following crganisms bears hollow |
and pneumatic long bones ¢
(1) Orni tharh;mchﬁs
J2 Neophron
3y Hemidactylus
(4 Macropus

173. EBeadthe following statemoents.

(7}  Metagenesis ia observed in Helminths,

(h)  Echinoderms are triploblastic and coelomate
animals,

¢y Round worms have organ-system level of
hody crganmization.

(el Ulumb plates present in ctenophures help in
digestion.

(e} ET: ﬁzs;uﬂl_ﬂr system is characteristic of

Eﬁw the correct answer from the options given |

e (1) (b} (c)and (o) are correct

(Z) (), (d) and (&) are correct

(3 {a), (b) and (¢) are correct

4y (a),(d) and (e} ure correct



¢ [ g h;l
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| 28 8 P3
]-;.j,, Match List - I with List - 11. 178, Which enzyme 18 rr_u-np-rrf‘:lﬁlti hI]F.' f'{;r.' the conversion of
L List-1 | imm inactive fibrinogens to fibrin
—— i ; o leinnae
— - e il (13 ['hrombo
(@) [Vaults - | ) Entry of aperm through _ . Ty b
Cervix 18 blocked a {2 I;r‘t_]
r iy y ltemn
(b} | TUDs W) [Removal of Vas defereny ) inspheing
- - - {,.1} Lpn
() [Vasectomy |(iif) PFEHW}'“"’ME of sperms |
within the Uterus —1 | 179, Which of the ff}lluwimi 14 not an objective of
(d} | Tubectomy [{iv} |Removal of fallopian tube Biofortification 1 crops &
(1) [mprove micronutrient and mineral content

Choose the correct answer from the optiens given
bF:]l:Jw_ {:2} s o
Improve resistance to diseages

@ () () @ 3

(I mw) G @) )

Improve protein content

()  Improve vitamin content

@2 v M 6 G 180. Dobson units are used to measure thickness of
«3) O (@ G G (1)  Troposphere
M G 0 @) () _ @ CFCs
175. Sphincter of oddi is present at B Reetomiery
(1) Junection of jejunum and duodenum e () ~Ozome
{2)  Ileo-caeeal junetion 181, Which one of the following is an example of
=3  Junction of hepato-pancreatic duct and Hprmone releaging IUD 7
duodenum (1} Muliiload 375
(4]  Gastro-nesophageal junction ()  CuT
_ ) (3 LNG20
176. I Adenine makes 30% of the DNA molecule, what @ CuT

will be the percentage of Thymine, (fuamine and

Crtosine m 1t ¥ E‘;:'{ £ 182 The centriole undergoes duplication during :
@ T:20;0:25;0:25 “obp
oo e 1) Gyphase
@ T:20;G:30;C:20 S Dt
@ T:20;G:20;C:30 3 Prophase
) T:80;G:20;0C:20 &)  Metaphase
Il Museh Gise o homeh Lisdalls 183. Which of the following RNAs is not required for
Tict -1 List - TI the synthesiz of protein ¥
(a) [Metamerism , | (i} |Coelenterata -(l)  siRNA
(b} |Canal svastem E ) |Ctenophora (2} mRNA
(¢) |Comb plates - | Hil) |Annelida (31 tRNA
(d) |Cnidoblasts Yiv) |Porifera (4)  rENA
Choose the eorrect answer from the optionsgiven | 184 [n a cross between a male and fotriale, Both
oeleH, heterozygous for sickle cell anaemia gene, what
(a) (b) (e (d) percentage of the progeny will be diseased ?
() vy @ W () (I 100% ldi L e
® @ G 6 @ 2 50% e
(B )y @ @ an (3)  Thl
LA ) Gv GD @) o 25%

Ayt firpi
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185. Select the favourable conditions required. forthe | 189, Which one of the following statements shout
formation of oxyhaemoglobin at the alveoll. Histones is Wrong ? -:
] e ) b 3 )
W ZewpRe. (W pUs, tonre Hy Righer (1) Iistones carry positive charge in the side i
temperature gt |
[ . » . 5 s = ' I
e E:EEEI!;EE?]D“ PCGE, BRI Mo (2) Higtones are urganizml to form a unit of |
- ulee. !
- r pOy, high pCO,, more H*, hi 3 molec . .
(3} tf_:;lt';;gl;at;melﬁ]'l p(. 0 g, IMOTE 0%, hlgher ,{3} The p]‘l of histones is shghﬂ}' acidio,
(4 High p0O,, high pCO,, less H*, higher (4)  Histomes are rich in aming acids - Lysine
temperature and Argimne,
Section - B (Biology : Zoology) 180. During muscular contraction which of the
186, Match List - T with List - IT. following eventg ocour 7
[ List -1 List - 1 {a) ‘H zone disappears
i : by “‘A’band widena
w th:,;l:;i;'] W), fangaroo rat €y ‘['band reduces in width
(b} acpéatinn I:-]j'l;l_f Desert hizard i} Myosine hydrolyzes ATP, releasing the ATIP
Behavioural -4 . . anFl Pi | |
(c) adaptation | (1) | Marine fish at depth (&)  Z-linesaltached to actins are pulled inwards
Biochomical Chooze the correct answer from the oplions given
(d) sdaptation li'ﬁv} Polar seal helow,
1y
Choose the correct answer from the options given M) @), @) () {@)only

(2)  (a), {c), {d), (e} only
(3)  (a), (b}, (c), (d}omly

helow .

(a) () (@ @

W@ G @6 @ ()@, @, fe}only
#2) v (@ ) @ ; ist - I with List -
@ o 6 @ @ 191. Match List - I with List - IT,
LA 6 ) ) List -1 Taen
187. Match List - I with List - I1. (a) |Seapula (1) [Cartilaginous joints
tRt=T BT (b)|Cranium  —~, | {u} [Flat bone
Selection of resistant i (c}|Sternum N\ (i) | Fibrous joints
(o) [Adaptive o varieties due to cxcessive (d}| Vertebral ealumn|{iv) | Triangular flat bone
I'Eﬂ.l?’ﬂ.][]]:l\\\_ll use _nf.herbicidcs and Choose the correct answer from the options given
II pesticides below:.
b C{Jll"r’EJI‘fEiE:IILI. i Ennea:mf‘ forelimbs 1n Man (a} (b)) (e} (d)
E&Talutmn L~ and Whale L v ) @ @
© Df‘-;_ﬁrt[;_'m}/ 1|h i) E‘_mgﬂ of Butterfly and @ 0 @ G av
L i @ @ @ G @
Evolution b}' : {4! {iv) |:11:|' I:lll:l {1}
(dtanthropo-  |(iv) |Darwin Finches
zenic action | 192. Assertion (A) :

A person goes to high altitude and experiences

Chouvse the correet amawe-r from the options given i ;
L B! altitude sickness’ with symptoma like bre athing

below:.

" ﬁ) fh% ({ﬂ} @ {i{liﬂil?’ F]_J:-_lihe art palpitations. .
] W) (i (i) )
@ G @ @ 6 Due to low atmospheric pressure at high altitude,
@ G @ 6 ) the hody does not get, sufficient oxygen.
@ @ & O @ In the light of the above statements, choose the
| _ | correct answer from the opti ven helow.
15;5. j'l.ﬂu_chl of these is nqt an 1mportant component of (1) {A)isfalse I:ELL {RE}[E tII?LII]: S
{zutaatmn of parturition in humans ? « (2 Both (A) and (R) are true and (R} is the
Hg F,eleuse D,f Prolactin correct explanation of (A)
2 ncrease m estrogen and progesterone ratio @) Both (A) and (R) are true but (R) is not the
{3)  Svnthesis of prostaglandins correct explanation of (A)

(4] Releass of Oxvtocin 1) (A)iztrue buc (R) is false



[

199.

136,

The Adenosing de;
i e Aminase deficiency resultg nto
(L Addison’s diseape
] {2’ I]FEfLLnﬁtiﬂTl Grlmmune svstem
(3)  Parkinson’s dizense
M} Digestive disargey
Which of the follow
Dvulation Em 1:11"-El-1c;|g 1?‘ ot Meltigl,
MORT) 2 ransfer Technology
(1) Fertilized & ;
L CEEE are tyunaf,
WF kit sl E; e :rrcdm BEUNTOERLE
Ly oy P
o2 Em 15 gdmm: stered hormone having LH
& activity for siper gvulation
13)  Cow vields about 6-8 eggs at u time
(4)  Cow iz fertilized by artificial insemination
Match List - T with List - IL

List -1

b IJi Ht - ].-[
"I .
s s : hilus
(a) |Filariasis Raenop
:“’J g influenzae
(b} | Amoebiasiz || (ii) | Trichophytan
() (Pneumonia [Hin) | Weehereria bancerofti
{d) |[Rangworm {1 |Entamoeba histolytica

Choose the correct answer from the options given
below,

@ (b (© ()
(I ) a0 (v}
(2] vy () (m} (1)
{3 (111) (v () (1)
WD G Gyl )

Fallowing are the statements with reference to

lipids’,

a)  Lipida having only single bonds are called
unsaturated fatty acds,

by  Lecithin iz a phosphaolipd.

(@)  Trihydroxy propane is glveerol.

(@)  Palmitic acid has 20 earbon atoms including
carboxyl carbon.

iy Arachidonic acid has 16 carbon atoms.

(haose the correet answer from the options given
velow.

(1) (b} and (2} only
(2 (a) and (b) only
(% (e)and (d)only

41 (b and (c)only
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Following are the statements about, prustcrrﬂillm
of earthworm.

{n)  Itserves asacovering for mouth.

) Ithelpsto open cracke in the oil inwo which
it can crawl,

()  Ttisoneof the sensory structures.

({d)  ILis the first body segment.

Choose the correct answer from the options given
below.

(1) (b)and {c) are correct

(%} (a), (b) and (¢) are coTTRCT

(3 (&), (b} and (d) are correct

() (a), (b), () and (d) are correct

Which of the following secretes the hormone,

relaxin, during the later phase of pregnancy 7

(1}  Uterus »

#  Craafian follicle

(31 Corpus uteum

4)  Foetus

Statement I :

The codon ‘AUG codes lor methionine and

phenylalanine.

Statement L1 :

‘AAA and ‘AAG both codons code for the aminoe

acid lysine.

In the light of the above statements, choose the

correct answer from the options given helow.

(1) Statement I iz inecorrect but
Statement 11 1= true

(2] Both Statement I and Statement 1T are
Lrae

(31 Both Statement [ and Statement [1 are
false

(4)  Statement [ is correct but Statement 11
15 false

ldentify the types of ccll juncuons that help to stop

the leakage of the substances across a tissue and

facilitation of communication with neighbouring

cells via rapid transfer of ions and molecules.

(1) Adhering junclions and Gap junctions,
respectively,

(Z)  Gap junetions and Adhering junctinns,
respectively.

¢ 3} Tight junctions and Gap juncticns,

respectively.

() Adhering junctions and Tight junctions,
respectively.
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